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nryT (fpua)> tUkhd kw;Wk; ,yhgr; rhu;Gfs; 
 

nryTr; rhu;Gfs;  
 
cw;gj;jp nra;ag;gLfpd;w ntspaPl;bd; nkhj;jr; nrythdJ nryTr; rhu;G vdg;gLk;.  
 
nryTr; rhu;G> ,uz;L ntt;NtW tifahd nryTfisf; nfhz;Ls;sJ. 

- khWk; nryT 
- epiyahd nryT 

  
khWk; nryT> ntspaPl;bd; msTf;Nfw;g (cw;gj;jp nra;ag;gl;l myFfspd; 
vz;zpf;if) khWgLfpwJ. nkhj;j khWk; nrythdJ> xt;nthU myfpw;Fkhd khWk; 
nryT kw;Wk; cw;gj;jp nra;ag;gl;l myFfspd; vz;zpf;if Mfpatw;wpd; 
ngUf;Fj;njhifahf mikAk;. mjpfkhd cUg;gbfs; cw;gj;jp nra;ag;gLkhapd; 
nryTk; mjpfkhf ,Uf;Fk;.      
 
epiyahd nryT> ntspaPl;bd; msTf;Nfw;g khWgl khl;lhJ. nghJthf> ,j;jifa 
nryTfs;> cUg;gbfspd; cw;gj;jp eilngw;whNyh my;yJ eilngwh jpUe;jhNyh 
ve;j NtisapYk; Vw;glf;$baitfshFk;.       
 

nryTr; rhu;G C(x) = F + Vx 
 

,q;F C = nkhj;jr; nryT 
 F = epiyahd nryT 

 V = myF xd;wpd; khWk; nryT 

 x = cw;gj;jp nra;ag;gl;L tpw;gid nra;ag;gl;l njhif (fzpak;) 

 
,J Neu; nryTr; rhu;G vd miof;fg;gLfpwJ.    

 
tUkhdr; rhu;Gfs;  
 
tUkhdk; vd;gJ nghUl;fspd; tpw;gid> Nrit toq;fy;fs; Nghd;wtw;wpypUe;J 
fpilf;fg;ngw;w nkhj;jf; nfhLg;gdTfshFk;.  
  
tUkhdr; rhu;G R(x) vd;gJ> “x” vz;zpf;ifapyhd cUg;gbfs; xt;nthd;iwAk; “p” 
tpiyapy; tpw;wjd; %yk; fpilf;fg;ngw;w tUkhdj;jpidg; gpujpgypf;fpwJ. 
  

  ࢞×࢖ = (࢞)ࡾ
 
,yhgr; rhu;Gfs;  
 

,yhgr; rhu;G P(x) vd;gJ> tUkhdr; rhu;G R(x) ,w;Fk; nkhj;jr; nryTr; rhu;G C(x) 
,w;Fk; ,ilapyhd tpj;jpahrk; MFk;.  

 

  vdNt>      P(x) = R(x) – C(x) 
 

,yhgk; = tUkhdk; − nryT 
 

cjhuzq;fs; : 

1.  epiyahd nryT &.850 vdTk; cUg;gb xd;wpw;fhd khWk; nryT &.45 vdTk; 
myF xd;wpw;fhd tpw;gid tpiy &.65 vdTk; fUjp> gpd;tUtdtw;iwj; jUf.   

i.  nryTr; rhu;G  ii.  tUkhdr; rhu;G  iii.  ,yhgr; rhu;G 
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i.    nkhj;jr; nryTr; rhu;G TC(x)  =  khWk; nryT + epiyahd nryT 

      = 45x + 850 

ii.   tUkhdr; rhu;G R(x)  =  65 × x =  65x 

iii.  ,yhgr; rhu;G R(x) =  R(x) – TC(x) 

  =  65x – (45x + 850) 

  =  20x – 850 

Fwpg;G : nghJthf nryTr; rhu;G vdf; Fwpg;gplg;gl;lhYk; mJ nkhj;jr; nryTr; 
rhu;gpidNa Fwpf;Fk; vd;gijj; jaTnra;J ftdj;jpw; nfhs;f. 

 
2.  fk;gdp xd;wpd; tUkhdr; rhu;Gk; nryTr; rhu;Gk; fPNo jug;gl;Ls;sd. 

 tUkhdr; rhu;G R(x) =  – 36x2 + 2000x 
 nryTr; rhu;G C(x)  =  125x + 6500  
,yhgr; rhu;gpid vspa (RUf;fpa) tbtpy; vOJf. 
 

P(x)  =  R(x) – C(x)  = – 36x2 + 2000x – (125x + 6500) 

   = – 36x2 + 2000x – 125x – 6500 

   = – 36x2 + 1875x – 6500 

3.  rpy;yiwf; fil xd;W> epiyahd nrythf &.150 ,idAk; myF xd;wpw;fhd 

khWk; nrythf &.175 ,idAk; nfhz;bUg;gJld; mjd; cw;gj;jpg; nghUl;fis 

mynfhd;W &.500 tPjk; tpw;gid nra;fpwJ. 

   i.   nryTr; rhu;gpidf; fhz;f.  
   ii.  tUkhdr; rhu;G ahjhftpUf;Fk;? 
   iii. ,yhgr; rhu;G ahjhftpUf;Fk;? 
 

tpilfs; 
i.  nryTr; rhu;G C(x) = 175x + 150 

ii.  tUkhdr; rhu;G R(x) = 500x 

iii.  ,yhgr; rhu;G = tUkhdr; rhu;G –  nryTr; rhu;G 

  = R(x) – C(x) 

 = 500x – (175x + 150) 

 = 325x – 150 

4.  fk;gdpnahd;W nghUs; xd;wpid cw;gj;jp nra;J tpw;gid nra;fpwJ. fk;gdpapd; 

epiyahd nryT &.6000 MfTk; khWk; nryT mynfhd;wpw;F &.25 MfTk; 

,Ug;gJld; nghUshdJ mynfhd;W &. 50 tPjk; tpw;fg;gLfpwJ.  
i  nkhj;jr; nryTr; rhu;gpidf; fhz;f.  
ii  nkhj;j tUkhdr; rhu;gpidf; fhz;f. 
iii  ,yhgr; rhu;gpidf; fhz;gJld; 1000 myFfs; tpw;gid nra;ag;gLk; 

NghJs;s ,yhgj;jpidAk; fzpg;gpLf. 
iv  &. 10,000 ,yhgk; <l;Ltjw;F vj;jid myFfs; cw;gj;jp nra;ag;gl;L 

tpw;gid nra;ag;gLjy; Ntz;Lk;? 
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tpilfs; 
i.  nkhj;jr; nryTr; rhu;G =  6000 + 25x 

ii.  nkhj;j tUkhdr; rhu;G = 50x 

 iii.  ,yhgr; rhu;G  =  50x – (6000 + 25x)  =  25x – 6000 

                     ,yhgk; = 25 × 1000 – 6000 = &. 19,000 

 iv.  ,yhgk; (P) = 10,000 

 /     10,000  = 25x – 6,000 

                  x  = 16000/25  

                  x  = 640 myFfs;.  

 
5.  epWtdk; xd;wpd; nghUSf;fhd Nfs;tpr; rhu;G D = 100 – 2x ,dhYk; nkhj;jr; 

nryTr; rhu;G TC = 300 + 8x ,dhYk; jug;gLfpwJ vdpd;> ,yhgr; rhu;gpidf; fhz;f. 

 tpil 

 nkhj;j tUkhdr; rhu;G =  Nfs;tpr; rhu;G (D)  x      
                                           TR =   (100 – 2x)  x  
          =  100x – 2x2 
 
 nkhj;jr; nryTr; rhu;G TC = 300 + 8x 

 ,yhgr; rhu;G  =   TR – TC 

                                      =   100x – 2x2 – (300 + 8x)   =   100x – 2x2 – 300 – 8x 

  =   – 2x2 + 92x – 300 

 
vy;iyr; nryT  (MC) 
 
ntspaPl;bd; Nkyjpf mynfhd;wpid cw;gj;jp nra;tjw;F Vw;gLfpd;w Nkyjpfr; 
nrythdJ vy;iyr; nryT vd miof;fg;gLfpwJ.  
 
cw;gj;jpf; fzpak; xU myfpdhy; khw;wkilAk;NghJ> nkhj;jr; nrytpy; Vw;gLfpd;w 
khw;wNk vy;iyr; nrythFk;.    
 

nkhj;jr; nryTr; rhu;gpd; (TC), fzpak; (x) Fwpj;jhd KjyhtJ tifaPNl vy;iyr; 

nryTr; rhu;ghff; (MC) fUjg;gLfpwJ.   
 

vy;iy tUkhdk; (MR) 
fzpaj;jpid xU myfpdhy; mjpfupg;gjd; %yk; nkhj;j tUkhdj;jpy; Vw;gLfpd;w 
khw;wNk vy;iy tUkhdk; MFk;.  

vy;iy tUkhdk; (MR) vd;gJ nghUspd; tpw;gidia xU myfpdhy; mjpfupg;gjd; 
%yk; gpwg;gpf;fg;gLfpd;w Nkyjpf tUkhdk; MFk;. 

nkhj;j tUkhdr; rhu;gpd; (TR), fzpak; (x) Fwpj;jhd KjyhtJ tifaPNl vy;iy 

tUkhdr; rhu;ghff; (MR) fUjg;gLfpwJ.   
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cjhuzq;fs; : 

1. fk;gdp xd;wpd; nryTr; rhu;G 6x2 + 5x + 100 vdpd;> vy;iyr; nryTr; rhu;gpidf; 

fzpf;Ff.  

tpil 

C(x) = 6x2 + 5x +100 
ܥ݀
ݔ݀

= ܥܯ = 2 × ݔ6 + 5 + 0 

MC  = 12x + 5 

 
2.  Mz;nlhd;wpy; jahupf;fg;gLfpd;w x vz;zpf;ifapyhd ghjzpfSf;fhd nkhj;j 

nryTr; rhu;G fPNo jug;gl;Ls;sJ. vy;iyr; nryTr; rhu;gpidf; fzpf;Ff. 

C(x) = 525 + 150x − 0.2x2       

tpil 

C(x) = 525 + 150x − 0.2x2   

ௗ஼
ௗ௫

= ܥܯ = 	0	 + 	150	– 	20.2ݔ  

              MC = 150 − 0.4x 

 

3.  ABC fk;gdpapd; re;ijg;gLj;jy; fpisahdJ Gjpa tbtpyhd ghlrhiyg; ig 

xd;wpidj; jahupj;J re;ijg;gLj;Jtjw;F gupe;Jiu nra;Js;sJ. ,jd; nghUl;L 
mf;fk;gdpapd; epjpf; fpisahdJ gpd;tUk; nryTr; rhu;gpid (&ghtpy;) 
toq;fpAs;sJ. 

C(x) = 600 + 120x   

,q;F> &. 600 vd;gJ vjpu;ghu;f;fg;gLk; epiyahd nrythfTk; 

&. 120 vd;gJ ghlrhiyg; ig xd;wpw;fhf vjpu;ghu;f;fg;gLk; 

khWk; nrythfTk; cs;sJ. 
  

tUkhdr; rhu;G (&ghtpy;) R(x) = 15x + 0.005 x2   vdj; jug;gbd;>     

i. vy;iyr; nryTr; rhu;G (MC) ,idf; fzpf;Ff.  

ii.  vy;iy tUkhdr; rhu;G (MR) ,idf; fzpf;Ff. 
 

tpilfs; 
i. C(x) = 600 + 120x 

ܥ݀
ݔ݀ = ܥܯ = 0 + 120 = 120 

 

ii.  R(x) = 15x + 0.005x2    

ܴ݀
ݔ݀ = ܴܯ = 15 + 2 × ݔ0.005 = 15 +  ݔ0.01
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4. fk;gdp xd;wpd; Nfs;tpr; rhu;G D = 42 – 0.001x vdTk; nryTr; rhu;G C(x) = 30x + 1200 
vdTk; jug;gl;Ls;sd. ,q;F x vd;gJ Nfs;tp myFfspd; vz;zpf;ifahFk;. 

  

i.  ,yhgr; rhu;gpidf; fhz;f. 

ii.  vy;iy ,yhgr; rhu;gpidf; fhz;f. 

iii. myFfspd; vz;zpf;if 1000 Mf ,Uf;Fk;NghJ ,yhgj;ijf; fzpf;Ff.  
 
 
tpilfs; 
 

i.  Kjypy; ehk; tUkhdr; rhu;gpidf; fz;Lgpbj;jy; Ntz;Lk;. 

  tUkhdr; rhu;G R(x) =  px  = (42 – 0.001x)x  

     =  42x – 0.001x2  

  ,yhgr; rhu;G    P(x)  =  tUkhdr; rhu;G – nryTr; rhu;G  

  = 42x – 0.001x2 – (30x + 1200) 

  = 42x – 0.001x2 – 30x – 1200 

   = – 0.001x2 + 12x –1200 

 

ii.  vy;iy ,yhgr; rhu;gpidf; fhz;gjw;F ehk; ,yhgr; rhu;gpid tifapLjy; 

Ntz;Lk;. 

݀ܲ
ݔ݀ = ܲܯ = 2 × (ݔ0.001−) + 12 − 0 = ݔ0.002−	 + 12 

 
iii.  P  =  – 0.001x2 + 12x –1200 

    =  – 0.001(1000)2 + 12 1000 – 1200    =   – 1000 + 12000 - 1200   
  =  &. 9800 

 

,yhgj;ij cr;rg;gLj;jy; 
,yhgj;ij cr;rg;gLj;jYf;fhd tpjp : 
  MR = MC  my;yJ    ,yhgr; rhu;gpid tifapLjy; 
 
cjhuzq;fs; : 

1. Nfs;tpr; rhu;G D = 160 – 0.0025x vdTk; nryTr; rhu;G C = 15x + 0.0025x2 vdTk; 

jug;gl;Ls;sd. ,yhgj;jpid cr;rg;gLj;Jfpd;w ntspaPl;L kl;lj;jpidf; fhz;f. 
 

tpil 
tUkhdr; rhu;G  =  Dx 

 = (160 – 0.0025x)x 

 = 160x – 0.0025x2 
 

 nryTr; rhu;G =  15x + 0.0025x2 
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,yhgj;ij cr;rg;gLj;Jk; kl;lj;jpy;> MC = MR 
 

R(x)  = 160x – 0.0025x2  
 

MR   =     ௗோ
ௗ௫

   =    160 – 20.0025x 

                           = 160 – 0.005x 

 

   C(x) =      15x + 0.0025x2 

MC =  ௗ஼
ௗ௫

    =  15 +  20.0025x 

 = 15 + 0.005x 

 

      MR = MC 

  160 – 0.005x =  15 + 0.005x 

                                     160 – 15 = 0.005x + 0.005x  

                                         0.01x =  145 

                                                 x =  145/0.01 

                                                 x =  14,500 myFfs; 
 
 
2. fk;gdp xd;wpd; thuhe;j ,yhgr; rhu;G P = 1400q – q2 – 240,000 ,dhy; jug;gLfpwJ. 

,q;F q vd;gJ thuhe;jk; cw;gj;jp nra;ag;gLk; myFfspd; vz;zpf;ifahFk;. 
thuhe;j ,yhgj;jpid cr;rg;gLj;Jtjw;F tpw;gid nra;ag;gl Ntz;ba 
myFfspd; vz;zpf;ifapidf; fzpf;Ff.  

 

 tpil 

  ,yhgr; rhu;gpid tifapLjy; 

   P = 1400q – q2 – 240,000 

݀ܲ
ݍ݀ = 1400− ݍ2 − 0 

         = 1400 – 2q 

   2q = 1400 

     q = 700 myFfs;  

2 MtJ tifaPL 

݀ଶݍ
ଶݍ݀ = 0 − 2	 < 0 

/  q = 700 vd;gJ cr;r ,yhgkhFk;. 

 


